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52. 9z TR HYE 6 W@ A A uirs e 2w e F
(1) g1 1 9T%d ®i9d 95 & =000 |
(2) @ I WA FAG TG AR
(3} =W H HE T A G A
(4) F= A0 TG E

53. SEEEA | YEM WS 9% 6 H4W €0, 90 S9geaT w9 9 29 w1 e we S0 S w0

$Fﬂ$?:
(1) uFH afgs (2} UFHFH
(3) T F A (4) TEEEET

54. Ffehw UEiEIT ¥ WA E

(a) ¥ =W A (b) R g
(c) HTHEIAER (d) FEF HY (Cartel)
i faw e = | Wl I oA W

(1) (a) 3 (b) (2) (b)) (3) (a) () FR(d) (4) (a)(b) I (c)

55. Tre=fafias s w fram =7
(a) WA 1 =ER A e (F0E) TEE 90w H w5 A
(b) Fovs =mw SR F U HEEE R H e At 3 G e F Er s A

T § E wE-A/E T AR R
(1) 97 (a) (2) 4 (b)
(3)  (a) S (b) 5 (4) (@) =W (b) F =7 TH

56. Trefafm o & T9-= 30 94 2013-14 F 999 wie =1 T8 9% =R 9WEe .7
(1) ¥gF Fa FHEAN 2y =M=
(3) Hgw T S (4 =

57. HammrARmsNAF I ERE S E R e am i
(1) wo=ra vsde wm femw=m (2)  ueEue Wy e w=m
(3) wEEEE IE W Sem = (4) = wm st =
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58. What does ‘Price Scissors’ refer to 7
(1) Marshall’s example of forces of supply and demand.
(2)  Exports of hwo strategic raw materials from a country.

(3) A sharp fall in price of a major export item accompanied by a sharp rise in price of a
maper import.

(4) Export basket of competitive local manufactures.

59. Hedging in the foreign exchange market refers to :
(1) An act of devaluation.
(2) Mot covering a risk of foreign exchange in future.
(3) Covering a risk of foreign exchange in future.
(4) None of the above.

60. For Real Effective Exchange Rate consider the following statements and select the correct
answer from the codes given below :

(a) It refers to average of value of country’s, currency in relation to an index of basket of
values major countries’ currencies.

(b} It refers to nominal ratio of a counkry’s currency value to average value of a basket of

CUITency.
Codes :

(1) Only (a) is true (2)  Only (b) is true

(3) Both {(a) and (b} are true (4) Meither (a) nor (b) are true

61. Consider the following statements :

(a) In the context of the classical model, loan finance may be a means of transferring the
burden to the future generation.

(b} Foreign borrowing permits financing public programmes without placing burden on
the present generation.

(c) Foreign borrowing is not burden some to the future generations even if the funds are
used unproductively.

Which of the statement/s given above is/are correct ?
(1) Only (a) {2)  {a) and (b} {3)  (b) and (¢} (4) (a) and (c)
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58. Fma =1 (s Hid) et § ffaw an S T 2
(1) Wi GF =i S g w5 e e |
(2) UE HE-3W A 9 ToEfaE w= W = i
(3) UF WA AEE T T A 9ra 95 F 5 wEiGE e A9 #5 S | 9 e
(4) wirEriE aFmE fafms = Fam 2 (TR ) |

59. freh fafm amm & e fefafm § fFes Se o v #7
(1) s w1 T
(2) wies & faseh fafres =t wifem = ol 5 500
(3) s & fageh fafs =i ifem =0 wies =)
(4) FT= A 7w T

60. TEAF T TR e s e S e A S e R T e T T
(a) =F W E90 FI SIS F AR F UG HIFF F G0 ° (HE 29 F qE F #99 g7

I HwH O

(b) TF HEH F UL F AT qra HE RE 39 W AR F 9EF 50 F SE0 59 1 S0
A w4

&

(1) o= () wel & (2) = (b)FEE

(3)  (a) 3 (b) T =& E (4)  (a) 3 (b) 3T T T E

61. freitafma sa41 o faam =7
(a) TEEEE WIS ® A § W oW T, wef Gt W e F S T A
(b) Fesei m =dam O fem = e =, St = w o M = wee .-

#

(c) T = wefi difsl & fan weeres o B afs il =1 wem seEs =0 A = A
fm T A

R R  LTAE

(1) = (a) 76 & (2) (a) 3 (b) 7E &

(3) (b) 30 (o) = ¥ (4) (@) 3R () =AE
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62. Tax incidence refers to :
(1)  Whether a tax is progressive, proportional or regressive.
(2} How often a tax is collected.
(3) The persom or group who ends up paying a tax.
(4) How a tax is collected.

63. Assertion (A): A progressive income tax is based on equimarginal sacrifice.

Reason (R} : Higher the income, lower will be the marginal utility of money for the tax
FPayers.

Codes :

(1}  Both (A} and (R) are true and (R) is the correct explanation of {A).
(2} (A} is true, but (R} is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A} is false, but (R) is true.

64. Which one of the following taxes is within the jurisdiction of the State Governments as
enumerated in List - [l of the Indian Constitution ?

(1) Taxes other than stamp duties on transactions in stock exchanges and future markets.
{2} Tawes on Railway freight and fares.

(3) Taxes on mineral rights subject to any limitation imposed by the parliament,

(4) Rate of stamp duty in respect of certain financial documents.

65. Y

I

X
Good A

In the above diagram, if curve IC represents income - consumption curve, then it means that -
(1) Only [A) is an inferior good.

(2) Omnly (B) is an inferior good.

(3) Both (A) and (B) are inferior goods.

(4) (A} is a normal good.
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FR fetates § | fEast S SFh s g
(1) =157 =2 w1, S 91w
(2) = = FEmE AW A o

(3) == = e S ST W W e S E
(4) =0 w1 FH ww= =

AT (A):  WOYE HE T 6EE SHE @ W A £

T (R) : o Tt sl ¥0T FoSrsl 1 qET T S STE0T 39 6w 2
T

(1) (A) SR (R) S0 @t & S (R), (A) F1 T8 Toeimm &)

(2) (A) T (R), (A) T FE ErE T R

(3) (A)FH E, T (R) T

(4) (A) 7T 7, T (R) FEOE

foefefiam =41 § & F19-91 UF 759 W F GATTHE H 0§ T WA weem w5 = - 0E
gtag famn m # 7

(1) =% v=aaal #F 499 AEE § w-27 7Y =0 g 8 At 1)

(2) T AN SN A W

(3) H== gm SR e w F ads wtE st = w0

(4) o favia =l & wEE § = Tga W ol

Y
1<

A
sw{qamﬁuﬁ.:glcwm—mﬁmﬁﬁﬁhmiﬁrmﬁ%ﬁ;
(1) = (A) Frge w1

(2) = (B) Fre wg

(3) (A) S (B) 3T = T &)

(4) (A)\WFRE TE #1
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In the above diagram, the consumer surplus is represented by the area of :
1y APCE (2) A APE {3) A ACE (4) Rectangle OPEQ

67. Simon-Hawkins conditions relate to which of the following *
(a) Static Leontief model
(b) Dymamic Leontief model
(c) These are necessary and sufficient conditions for the solution of the model.
Choose the correct answer from the codes given below :
Codes :
1) @and(®) () Mandi) () @ GandE @) (a)and (@)

68. Given the production function Q=1-K}:‘r- L‘}-;. find the output level when 8§ units of capital
and 27 units of labour are used.

(1) 36 (2) 54 (3) 18 4) 24

69. A consumer spends ¥ 240 when the price of the commodity is T 15 and T 300 when the price
rises to ¥ 20. The elasticity of demand is :

2 3 1
1 3 @ 1 (3 55 @ 5

70. For a regression model
Y=f,+8,X; +B+ .+ BX, +u,
the degrees of freedom of test statistics |t|, with ‘n’ observations is :
(1) (@ n—k+l (3 n—-k-1 4] nt+k+1

n—k
oons |11 MIIERNN 2 —
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T O W I Afaee w1 e dm g Term T 7
(1) APCE (2) A APE (3) A ACE (4) =g¥E OPEQ

67. WA - T F =9 e | | feen qearem 7
(a) Foamfew =1 wifas wize)
(b} ToEamfes =1 T wisT )
(€) F iEe % ve ¥ fou smwrs A vara = #)
= fau o 2 | W I A
FT:
(1) (a) 3 (b) (2) (b) 3 () (3) fa) () () (4) (a) 3 ()

68. fomw U R we Q=2K7 175 4 geure ww wan, wAfe s F1 8 SHEdi i i w1 27
ISl 1 FIE A
(1) 36 @) 54 3 18 4) 24

69. w9 TFE g F7 FWA T 15 TA # A 06 T 240 O W # SR 94 39 o W F0E g
7 20 % W # 9 9E T 300 W= O 1 A0 w S W oAE Femm g w e

2 3
m 3 2 1 3 = (4]

8
20 30

70. frefafas TasEm wise 5 fon
Y=B+BX; +BxXa+ .+ BeX +u,
‘o’ Weri S AT |t i T # s ek €
(1) n-k 2] n-k+1 (3) n-k-1 4] n+k+1
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71. Match the following and answer from the codes given below :

List - 1 List - 11
(a) Wald test (i} Stationarity
(b}  Unit root kest (ii} Errors in Variables Model
(c) Student's t test (iti) Causality
(d) Granger test {iv) Significance of Regression Coefficients
Codes :

fa) (B) {c) (d)
M 6 6 ) G
@ 6 6 v (@
(3) () (v} (i) ()
@ v ) G )

72. Which of the following model/s can be estimated using OLS, following suitable
transformations if necessary ? MNote that ‘e’ denotes the exponential.

(a) ¥, =a+pX +u, (k) ¥,=a+ Hexl+ul
£ Y,=a+B InQ{)+u, {d)  Y,=o+pXi+y,
Codes :

(1) (a) only (2) (b} and (c) only
(3  (a) () and (d) only @) (@) (). () and (d)

73. If OLS is applied separately to each equation that is part of a simultaneous interdependent
system, the resulting estimates will be -

(1} Unbiased and consistent

(2) Biased and consistent

(3) Biased and inconsistent

(4) It is impossible to apply OLS to the equations that are part of a simultaneous system

74.  Which one of the following is not a plausible remedy for multicollinearity ?
(1) Use principal components analysis
(2) Drop one of the collinear variables
(3) Use a longer-run of data
(4) Take logarithm of each of the variables
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71. et =1 gifew fefm o % fog o 591 8 & o

- 1 HET - 11
(a) T"E TR (i) Tem awen
(b) IR w= (i) =9 3 A=
() wE=m'dH I= (iii) T
() F=im {iv) TSI U w HEw

wHE

fa) (b} () (d)
(1) fi) @ () (i)
2y (O () () (i)
(3) i) Gv) @) ()
(4) (fiv) () () ()

72. Toetefie atzs,/wi 4 afe wavEs @ O =oem w1t /9 51 ame = T fafy | st
fFm T TFa £ 7 A FiF (o) T =S¥t w0 T

(a) Y,=a+pX +u (b) ¥,=a+Bett+u
(c) ¥Y,=a+BIn(X)+u, (d) Yt=n:+Bx;'r+u:
&

(1) ¥ () (2) F (b) F (o)
(3) ¥ (a), (c) 3 (d) (4)  (a), (b), (c) ¥ (d)

73. o UF 9F - i AT wonEt w1 9 AR F AT i e A i it (0Ls) =
T fm =m #, 4w s w
(1) Ty s g5m
(2) IR 3 FE
(3)  TETEI S S
(4) W FHEEA U PIOEE WD F H E, S W, 9 gaan w fafE (oLs) s
e &

74, TG ® A R Ag-wEEwT 1 St 3 A w7
(1) Fifam weir=s v = wEm
(2) Fat U wHITEE =T H EE
(3) S S W wE
(4) ¥R = F SYIRE TG H T
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75. Consider the two regression models :
Model 1 - Y =By +BaXg, tuy,
Model 2 - Y=o Xy + o) oy
Which of the following statements are true ?
(a) Model 2 must have an B2 at least as high as that of Model 1.
(b} Model 2 must have an adjusted R? at least as high as that of Model 1.
i) Models 1 and 2 would have identical values of R? if estimated coefficient of iy is Fero.
(d) Models1 and 2 would have identical values of adjusted R if the estimated coefficient

of @, is zero.

Codes :
(1)  (b)and (d) only (2) () and (c) only
(3) f{a), (b) and (c) only (4 (a) (b), (c) and (d)

-plo-
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75. = EEIEET wine W fran St
wWEA1 - Y =P+ BaXg
WEA2 Y, =y e Xa, + X, F
Fiffias el § 8 S8 Wi R 7
(a) wf=s 2F R2=1 959 59 B ¥9 9i=d 18 #fvs o =i
(b) Wize 2F FHETTE R2 ¥ AR 79 F F9 Gige 1 F 90 F G995y w7 e |
(c) wiEd13R2¥ R =1 wF 7= a1 w3 o, = ArEfEa waeE s 1=
(d) WiEE 1 ¥R 2H, AT R2 =0 HE W6 € =0 47 o, A S e e #

L T4
(1) F=9 (b) i (d) (2) ¥ (a) 30 ()
(3) == (a), (b) S (c) (4)  (a), (b}, (c) ¥ (d)

-oplo-
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ECONOMICS
FPAFER - 111

Mote : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. For a linear demand curve, which of the following is true ?
(1) Elasticity of demand is unity at all points.
(2}  Elasticity of demand is constant at all points.
(3)  Elasticity increases as one slides down the demand curve.

(4)  Elasticity declines as one slides down the demand curve.

2. A discriminating monopolist will charge a lower price in the market in which the price

elasticity of :
(1} demand is greater (2) supply is smaller
(3) demand is smaller (4) supply is greater

3. What is a public limited company ?
(1) owned by the government {2) owned by share-holders
(3) owned by financial institutions  (4) owned by MNCs

4. Between the two situations for a firm profit maximization and sales revenue maximization,
the equilibrium for a profit maximiser as compared to sales revenue maximiser, takes place
at :

(1)  larger output and lower price (2)  lower output and higher price
(3) lower output and lower price (4) larger output and larger price

5. Meo-<lassical production function has which of the following characteristics 7
(a) Positive and diminishing marginal productivities of the factors
(b} Constant returns to scale
(c) Satisfies Inada conditions
Choose the correct answer from the code below :
(1) {a) and (b) (2) fa) and (c) {3)  (b) and (c) (4) (a). (b) and (<)
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|t : = wr-Ta § eg (75) 9E-Taweim v f ) wew w9 (2) 55§ it v sfadd §)

1. TFHEEan s T A s e e
(1) =i =1 == w4 Pig s w e w0
(2) Wi =i e A g w o o #
(3) A TH WA W AR WA W T
(4) W SF WA B A WA A = R

2. UF YSNEY URIHSEEE] 96 9EE § w9 g9 Snis s e g w6
(1) Hm =1 == # {2) =mfdFiwaE
(3) WM R EARE (4) =gl = =EE

3. UE WiEww MAT ST w0 A R 7
(1) =EFF % s o (2) ¥ AT A A
(3) Toaera s & wEtaes =W (4) URTAHELH % = G

4. T dem & Tom =1 T, w9 Aeode SR faww S@ e, ¥ o= e s
Lah a0 e 1 e 0 e e o e o B e L

(1) =0 0% Jn o g (2) freme 3R SR = Ae
(3) Frorm wmE s Frem v (4) = TR AN T g

5. TE-SEIEEE RS FEA S0 9 6 ° o fawmed §7
(a) EH W TS SR S g S SOEsaE
by EF ¥ fem wfee
(c) == I A wEE
fem mmy Frevifers 2l & & Wl = = = w6
(1) (a) 3 (b) (2) (a) 3 (c) (3)  (b) #R (c) (4) (a). (b) 3 ()
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6.  On the given diagram, which of the following segment correctly depicts the supply curve of
a producer ?

Y

\ AVC
Costs D

o Cutput
(1} DE () CB {3) AB 4y DB

7.  Product differentiation is relevant to which set of the following market forms ?
(1) Monopoly, Monopolistic Competition, Oligopoly.
(2) Perfect Competition, Monopoly, Oligopoly.
(3}  Monopolistic Competition, Oligopoly and Oligopsony.
(4) Perfect Competition, Monopoly and Bilateral monopaly

8. In imperfect factor and product markets, labour exploitation is represented by :
(a) When ARF is > Average wage.
(b) When ARF is > Marginal wage
{c) When ARPis < MRP
(d) When ARP is < Marginal wage
Select the correct answer from the codes given below :

(1) (a) (d) (2} fa) () (3) (&), (b) (4) (d (2

9, Who among the following economists emphasized the role of non-economic factors in
explaining growth ?
(1) E.M. Solow (2) Rov Harrod (3} N. Kalder (4) E. Domar

10. Which one of the following is net an Hirofumi Ujawa condition for a well behaved preduction
function ?
(1) Continuously differentiable
(2) When x=0, fix}=0
(3) The second derivative of the function is negative
(4) The function is concave

11. Exponents of the Cobb-Douglas production represent :

(1) Output elasticity of factors {2) Share of factor income in total income
(3) Both (1) and (2) of the above (4) Meither (1} nor (2) of the above
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12. Concept of scale economies applies in :
(1) Long - run with constant technical coefficients.
(2} Long - run with varable technology.
(3) Short - run with constant technology.
(4) Short - run with variable technical coefficient.

13. Consider an economy with a Cobb-Douglas type of production function with two inputs -
capital and labour. The share of capital and labour in total cutput are, respectively

1 3
i and 3 The rates of growth of capital and labour are, respectively 8% and 4% per annum.

Meutral technical progress takes place at the rate of 3% per annum. What will be the rate of
growth of output per annum in this economy ?

(1) 5% @ 7% (3) 9% (4) B%

14. Which of the following conditions is most likely to benefit a debtor under new classical economic
framework ?

(1) Anticipated deflation (2) Anticipated inflation
(3) Unanticipated deflation (4) Unanticipated inflation

15. Which theory assumes that increase in stock of money is directly spent on goods 7
(1) Quantity theory of money (2) IS-LM theory
(3) Keynes (4) Mone of the above

16. In Harrod's model of economic growth, if warranted rate is below the natural rate of growth
then it is possible to maintain steady state growth at warranted rate with :

(1) Continually increasing unemployment
(2} A constant rate of unemployment

(3) Continually decreasing unemployment
(4) MNone of the above

17. Wage is determined where :
(a) Demand for labour = supply of labour
(b} MRP of labour = marginal wage
(c) MRF of labour = ARP
(d) MRF of labour = Average wage
Select the correct combination from above -
1) @and(E) () (Qandd) (3) @and(@ @) (a)and (d)
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18. According to Harrod, neutral technical progress is characterised as :
(1) Capital augmenting
(2) Labour augmenting
(3) Both labour and capital augmenting
(4) Productivity increasing

19. The capacity creating aspect of investment in growth theory was explained by :
(1) ER.F. Harrod (2) E.D. Domar {3) R.M. Solow {4y P.A Samuelson

20. The rate at which banks lend to RBl is known as -
(1} Bank Rate (2} Repo Rate
(3) Reverse Repo rate {4) Interest Rate

21. Assertion (A} : AK model is an endogenous model.
Reason (R):  This is due to absence of diminishing returns to scale with respect to capital.
Then which of the following options is correct ?
(1}  Both (A) and (R) are true and (R} is the correct explanation of (A).
(2) Both (A) and (R) are true and (R} is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) {A) is false but (R) is true.

22, Assertion (A) : According to Marx in a capitalist society organic composition of capital
increases with time.
Reason (R) : Technological progress is continuously more capital intensive.
Select the answer from the code given below :
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A} and (R} are true and (R} is not the correct explanation of (A).
(3} {A) is true but (R} is false.
(4) (A is false but {R) is true.

23, A less elastic IS curve means that :

{l] Monetary policy is more effective (2) Monetary policy is less effective
Fiscal policy is less effective (4) Both (1) and (3) are true
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24. Consider the following :

{a) MNominal GDP (b)  Price level (c) The rate of interest

In monetarism, money supply determines which of the above ? Answer from the code given
below :

Codes :

(1) Alltheabove (2) Only (q) (3) @and(B) () (b)and (9

25.  In Keynesian framework, at full employment, which of the following is/are trae ?
(a) Supply curve in the short period is inelastic.
(b} The supply is influenced by the increase in the quantity of money.
Select the answer from the code given below :
Codes @
(1) Both (a) and (b) are true
(2) Meither (a) nor (b) are true
(3} Only (a) is true
(4)  Only (b) is true

26. Who among the following economists considered the portfolio approach te demand for

money ?

(a) IM. Keynes (b} M. Friedman (c) James Tobin
Select the correct answer from the code given below :

Codes :

(1) Al the above (2) Only (b} and (c}

(3) Onmly (b) (4) Only (a)

27.  When LM curve is vertical, which one of the following is correct 7 An increase in money
supply will lead to :

(1) Fall in interest rate (2)  Fall in the level of income
(3) Rise in the rate of interest (4) Mo change in the level of income

28. Who among the following believe the velocity of money to be constant ?

(1) Classicals {2) Keyvnesians
(3) Monetarists (4) Both (1) and (3) above
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29. Which one of the following is not correctly matched ?

(1) Long-run consumption function : Permanent Income Hypothesis
(2) Demand for money balances to be held : Fisher's equation

(3)  Real balance effect : Tobin's portfolio theory

(4) Labour theory of value H Ricardo's theory of distribution

30. For Keynesian demand for money, which of the following is correct ? People wish to hold
money in the form of :

(1) Cash (2) Bonds
(3) Both Cash and Bonds (4) Meither Cash nor Bonds

31. Crowding out will emerge in the economy, if :
(1) government spending is on the rise
(2} deficit financing is in control
(3) both (1) and (2} are relevant
(4) meither (1) nor (2) are relevant

32. Which one of the following is/are not true for a simple ¥ = AK model ?
(a) Constant exogenous savings rate
(b) MNon-operation of diminishing returns to scale
(c) Constant endogenous savings rate.
Choose the answer from the code given below :

Codes :
(1) (a) and (b} are true (2) (b} and (c) are true
(3) Only (c) is true (4)  Only (b) is true

33. Consider the following statements with regard to “Make in India” programme :
(a) It concentrates on 25 industries/ sectors.
(b} 100 per cent FDI has been allowed in railway infrastructure projects.
O the above, which is/are correct 7 Answer from the codes given below :

Codes :
(1} Both (a) and (b} are correct (2)  Meither (a) nor (b) are correct
(3) Only (a) is true (4)  Only (b) is true
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34. Population replacement level of total fertility rate is :
(1 21 () 10 (3) 25 4y 40

35. Consider the following regarding shadow banking :
(a) NBFC facdilitating credit spread across the global financial system.
(b} These institutions are subject to supervisory control of central banks,

Of the above, which statement/s is/are true ? Select the answer from the codes given
below :

Codes :

(1} Both (a) and (b} are correct
(2) Meither (a) nor (b) are correct
(3) Only (a) is correct

(4)  Only (b) is true

36. Consider the following statements :

(a) India is one of the first in Asia to recognise the effectiveness of the Export Processing
Zone,

(b) Asta's First Export Processing Zone was set - up in Kandla, India in 1965.
Which of the statement/s given above is/are correct ?

(1) Only (3) (2) Only (b)

(3}  Both {a) and (b} (4) Neither (a) nor (b)

37.  Value of the Marginal Product (VMP) is -
(1} MPPxMR (2) MPPxAR (3) APPxMR (4) APPxAR

38.  Which of the following is not a part of Bharat Nirman ?
(1) Rural Housing (2) Agro-based Industries
(3) Rural Electrification (4) Rural Telephony

39. The relevant age group for computation of child sex-ratio :
(1) 0-1 years (2) 0-4 years {3) 0-byears (4) 0-7 years

40. Which committee recommended abolition of tax rebates under Section 88 of the Income Tax

Act?
(1) Chellaiah Committee (2) Kelkar Committes
(3) Shome Committes (4) MNone of the above
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41. As per the UN Report on the convention between Poverty and Environment, which one of
the following is incorrect :

(1) MNatural calamities always hit the poor more severely,
(2) Poverty escalation leads to environmental degradation.
(3) Environmental degradation adversely affects livelihood.
(4) Environmental degradation reduces poverty.

42, Which of the following is not related to ‘empowerment of women' 7
(1) Gender Development [ndex (2) Gender Empowerment Measure
(3) Gender Budgeting (4) Gender Discrimination

43.  The Phenomenon of ‘demographic dividend' of a country is related o :
(1) A sharp decline in the total population
(2) A decline in the Infant Mortality Rate
(3) An increase in the sex ratio

(4)  An increase in the population in the working age group

44. The agricultural census is done at which one of the following intervals ?
(1) Every year {2) Once in three years
(3)  Once in five years (4) Once in ten years

45. The 2015, Mobel Prize in Economics has been given to Angus Deaton for his work on :
(1) Consumption, Poverty and Welfare
(2) Population, Poverty and Development
(3} Consumption, Saving and Welfare

(4) Consumption, Human Development and Education

46. A tax is said to be buoyant if tax revenue is proportionally :
(1)  More responsive to changes in output
(2) Less responsive to changes in output
(3) Equally responsive to changes in tax base
(4) Less responsive to changes in tax base
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47. Report by Task Force on the implementation of Fiscal Responsibility and Budget Management
Act, headed by Kelkar suggests some points :

{a) Primary deficit to be abolished by 2008-09.
(b)  Fiscal deficit should be brought down to 3% of GDP.
Which of the above statement/ s is/are comect ? Select from the codes given below :

Codes :
(1) Only (3) (2) Only (b)
i3) Both {a) and (b} (4) Meither (a) nor (b)

48. Who was the Chairman of the high powered committee for measurement of poverty in

2013 7
(1) Suresh Tendulkar (2) C. Rangarajan
(3) D.T. Lakadawala 4) YK Alagh

49. Segmented labour markets imply :
(1) Labour discrimination.
(2) Labour paid wage less than MRED.
(3)  MP theory of wage fails to determine market outcomes.
(4) Equality of wages of different tvpes of labour.
Which of the above is incorrect ?

50. In India those farmers are called "Marginal Farmers’ who hold land upto :
(1} 1 hectare (2) 2 hectares {3} 3 hectares (4} 4 hectares

51. Assertion (A) : Indian development programmes are oriented towards growth with social
justice.
Reason (R} : Indian economy is afflicted with poverty and income inequalities,
Codes :
(1) Both (A) and (R) are true and (R} is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3} (A) is true but (R) is false.
(4) (A is false but (R) is true.
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52. If there is a balance of payments deficit then in a floating exchange rate system :
(1) the external value of the currency would tend to fall.
(2) the external value of the currency would tend to rise.
(3) the injections from trade are greater than the withdrawals.
(4) aggregate demand is increasing.

53. Devaluation, will improve the balance of payment deficit, if sum of elasticity of exports and
imports of the devaluing country is :

(1) greater than unity {2) less than one
(3) equal to zero (4) negative

54. Examples of economic integration are :
(a) Free Trade Area (b} Customs Union
{c) Common Market (d) Cartel
Select the correct answer from the given codes.
(1) (a) and (b) (2) (b} and [c) (3) (a), (b) and {d) (4) (a), (b) and (c)

55. Consider the following statements :
(a) India’s Trade Policy Review (TPR) is carried out every four years.
(b)  WTO has a mechanism for regular review of the trade policies of member countries.
Which of the statement/s given above is/are correct ?
(1) Only (a) (2) Only (b)
(3)  Both (a) and () (4) Neither (a) nor (b)

56. Which among the following countries was the largest trading partner of India in 20M3-14 ?
(1) UAE {2y China (3) USA (4) Japan

57. Mew Trade Policy 2015-20 has introduced a new scheme which is called :
(1)  Merchandise Export from India Scheme
(2) Export from India Scheme
(3) Merchandise Trade from India Scheme
(4) Trade from India Scheme
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